Test Booklet No.

This booklet consists of 100 questions and 12 printed pages.

RGUCET/2023/UG/04
Series
NIL
RGUCET 2023
BACHELOR OF LAWS
Full Marks: 100 Time: 2 Hours
Roll No.

Day and Date of Examination

Signature of Invigilator(s)

Signature of Candidate

General Instructions:
PLEASE READ ALL THE INSTRUCTIONS CAREFULLY BEFORE MAKING ANY ENTRY.

1. DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE TOLD TO DO SO.
2. Candidate must write his/her Roll Number on the space provided.

3. This Test Booklet contains 100 Multiple Choice Questions (MCQs). Each question carries 1 mark.
There shall be negative marking of 0.25 against each wrong attempt.

4. Please check the Test Booklet to verify that the total pages and total number of questions contained
in the test booklet are the same as those printed on the top of the first page. Also check whether the
questions are in sequential order or not.

5. Candidates are not permitted to enter into the examination hall 15 minutes after the commencement
of the entrance test or leave the examination hall before 30 minutes of end of examination.

6. Making any identification mark in the OMR Answer Sheet or writing Roll Number anywhere other
than the specified places will lead to disqualification of the candidate.

7. Candidates shall maintain silence inside and outside the examination hall. If candidate(s) is/are
found violating the instructions mentioned herein or announced in the examination hall, they will
be summarily disqualified from the entrance test.

8. In case of any dispute, the decision of the Entrance Test Committee, RGU shall be final and
binding.

9. The OMR Answer Sheet consists of two copies, the Original copy and the Student's copy.



1 | Thereisn't water in the overhead tank
a) little b) some c) any d) lot of any
2 | Athief does not the door.
a) knock b) knock at c) knock on d) knock to Knock at
3 | They always give the available seats to comes.
a) whoever b) whichever | c) whom d) whomever whoever
4 | Afire broke in the neighbourhood
a) away b) from c) out d) off out
5 | It’s unfortunate that he died cancer.
a) from b) by c) with d) of of
6 | They returned home a taxi.
a)in b) on c) from d) with in
Who was the Constitutional Advisor to the Constituent Assembly in
7 | framing the Indian Constitution?
a) Dr. Rajendra b) Sir B.N. Rau | c¢) Pandit d) Dr. B.R. .
Sir B.N. Rau
Prasad Jawaharlal Nehru Ambedkar
Before Draupadi Murmu, India had only one other female president,
PratibhaPatil. When did Patil serve as the President of India?
8 2007-2012
a)2006-2011 b)2005-2010 c) 2012-2017 d) 2007-2012
9 | Who was the first Dalit to hold the office of the President of India?
a)Neelam Sanjiva | b)Kocheril c) Ram Nath d)V.V. Giri Kocheril
Reddy Raman Kovind Raman
Narayanan Narayanan
10 | Which of the following technologies does cryptocurrency rely on?
a)Cryptography b) Blockchain | c)Spectrography d)both (A) Both A and
and (b) B

11

India is the world’s largest producer of which of the following?




a) Milk b) Poultry c) Rice d) Almond Milk
i
Meat
12 | What is India’s ranking in the 2022 Global Hunger Index?
a) 10 b) 50 c) 35 d) 107 107
13 | Who is the Governor of Arunachal Pradesh
a)Brig (Retd) Dr. b)Lt. Gen c) Lt Gen (Retd) d)Lt Gen Lt Gen
B D Mishra (Retd) Kaiwalya (Retd.) (Retd)
Shantanu TrivikramParnaik Nirbhay Kaiwalya
Dayal Sharma Trivikram
Parnaik
14 | How many districts are in Arunachal Pradesh?
a) 26 b) 25 c)24 d) 27 25
How many countries share their International Border with Arunachal
15 | Pradesh?
a)5 b) 4 c)3 d)?2 3
16 | Fill in the blank: 257, 291, , 365, 405
a)313 b) 322 c) 327 d) 343 327
Manoj walks a distance of 5 meters towards the North, then he turns to
the east and walks a distance of 10 meters. Then he turns to his right East
as
and covers a distance of 15 meters. He then turns to his left and covers
17 | a distance of 15 meters. Which direction is he facing now?
a) North b) East c) West d) South
A man introduces a girl as the daughter of the sister of his father. How Cous|
ousin
18 | the girl is related to the man
a)Daughter b)Niece c)Cousin d)Grand
daughter
Find the odd one out:
Mob
19 | Symphony, Orchestra, Guitar, Mob
a)Symphony b)Orchestra c)Guitar d)Mob




In a 100 meters race, A beats B by 20 meters B beats C by 5 meters. In

20 | the same race, A beats C by:
a) 26 meters b) 25 meters c)24 meters d)22 meters C 24 meters
Suba Rao started work in 1995 at an annual salary of Rs. 5,000 with annual
21 | increment of Rs. 200. In which year his annual salary will reach Rs. 7,000?
a)2007 b)2005 ¢)2004 d)2006 (b) 2005
22 | The President of India can be impeached on the ground of:
a) Violation of b) Proved c) d) Mental
Constitution Misbehaviour | Misdemeanour | and/or (@) Violation of
and serious physical Y| Constitution
crimes incapacity
Constitution 86th Amendment, 2002 inserted the provision for right to
education which stipulates that the State shall provide free and compulsory
education to all children in such manner as the State may, by law,
23 | determine. The age of: children should be:
a) 6 to 14 years b) 12 years c)12to 18 d)7to 12 (@) | 610 14 years
only years years
In case the President of India wants to resign, he shall address his
24 | resignation to:
a) Vice-President of b) Chief c) Prime d) Chief Vice-
India Justice of Minister of Election (a) | President of
India India Commission India
25 | Which Governor General started the Indian Civil Services?
a) Wellesley b) Warren c¢) Charles d) William ©) Charles
Hastings Cornwallis Bentinck Cornwallis
The Parliament in India consists of: (A) President (B) Lok Sabha (C) Rajya
Sabha (D) Vice-President Select the correct answer using the codes given
26 | below:
DB, ©Qmd D) [0)Band [ A, B), [& () Band | | (A),(B)and
©) (C) and (D) ©) ©)
27 | In Indian Polity, which one of the following is supreme?




a) The Constitution b) The c) The d) The

Th
Parliament Supreme Religion (a) ) © .
Constitution
Court
A series is given with one term [?] missing. Choose the correct alternative
28 | from in the given ones that will complete the series: KRK, LTN, MVQ?
a) NXT b) OXT c) NYU d) NYT (a) NXT
29 | The substance which cannot be used as insecticide:
a) DDT b) Malathion | c) d) Bleaching () Bleaching
Gammaxene Powder Powder
30 | She Box' is related to a complaint made to the:
a) National b) Human c) Ministry of | d) National
Commission for Rights Women & Green National
Women Commission | Child Tribunal (a) Commission
Development for Women
31 | A judge of the Supreme Court may resign his office by writing a letter to:
a) Law Minister b) President c) 'Pr.irne d) thef (b) President
Minister Justice
In which case the Supreme Court held that the Preamble is not the Part of
32 | the Constitution?
a) Minerva Mills case b) A K. c) AK. d) Berubari )
(d) | Berubari case
Antony case | Gopalan case | case
Which of the following is a large blood vessel that carries blood away from
33 | the heart?
a) Nerve b) Vein c) Artery d) Capillary (©) Artery
In a certain code language, "RUMOUR" is written as "MURRUO". How is
34 | "RACKET" written in that code language?
a) CARKET b) CARTEK | ¢) TEKCAR d) TBKCAR (b) CARTEK
When the offices of both President and Vice-President of India are vacant,
35 | then their functions will be discharged by:
a) Home Minister b) Cabinet c¢) Chief d) Prime © Chief Justice
Secretary Justice of Minister of India




India

36 | The essentials of a valid custom are: (a) (b) (c) (d)
a) duration, .continuity, b) logg c) lon.g d) dl‘ll‘at.iOIl, long duration,
and generality duration, duration, continuity, and continuit
continuity, continuity, and | inconsistency | (c) and Y
and consistency .
. consistency
generality
Under which of the following Articles of the Indian Constitution, the
37 | Supreme Court has the power to review its own judgement order?
a) Article 138 b) Article 136 | c) Article 135 | d) Article 137 | (d) | Article 137
38 | The correct sequence in the formation of contract is: (a) (b) (c) (d)
a) Offer, acceptance, b) c) Offer, d) Offer, Offer
consideration, Agreement, consideration, | acceptance, ’
. . acceptance,
agreement consideration, | acceptance, agreement, (a) . .
. . consideration,
offer, agreement consideration
agreement
acceptance
39 | A instigates B to murder C. B refuses to do so. A is guilty of: (a) (b) (¢) (d)
a) abetment to commit | b) abetment c¢) no offence | d) criminal abetment to
murder for attempt to conspiracy (a) | commit
murder murder
40 | Which of the pairs is not correctly matched? (a) (b) (c) (d)
a) Uniform Civil Code | b) Judicial c) President's | d) Money Bill Judicial
- Article 44 Review - Rule in States | — Article 110 (b) | Review -
Article 243 - Article 356 Article 243
41 | Article 1 of the Indian Constitution declares India as:
a) Unitary State b) United c¢) Both d) Union of
States of Unitary State | States () Union of
India and United States
States of India
Who among the following was the First Women Chief Justice of a High
42 | Court in India? (a) (b) (c) (d)
a) Justice Shobha Dixit | b) Justice c) Justice d) Justice . .
. Justice Leila
Indu Leila Seth Ruma Pal (©
Seth
Malhotra




Who among the following shall preside over a joint sitting of two houses

43 | of Parliament? (a) (b) (c) (d)
a) Prime Minister b) President ?Ols(psejgsz of 2 }C{E'ai;man © Speaker of
Wy Lok Sabha
Sabha
Directive Principles of State policy are: (A) Not amendable (B) Not
enforceable by any Court (C) Fundamental to the governance of the
44 | country Codes:
a) A and C b) A and B c)A,BandC | d)BandC (d) | Band C
45 | Who is ex-officio Chairman of Council of States?
a) Vice-President b) ¢) Minister of | d) President Vice
Parliamentary | Parliamentary (a) .
. President
Secretary Affairs
46 | How many Schedules are there in the Constitution of India?
a) 8 b) 10 c) 14 d) 12 (a) | 8
In which one of the following cases, the Supreme Court has recognized the
47 | rights of transgenders?
a) Suresh Kumar b) Laxmi V. | c) National d) Union of National
Kaushal V. Naz Union of Legal Services | India V. Shri Legal
Foundation (2014) India (2015) | Authority V. Haran © Services
Union of India Authority V.
(2014) Union of
India (2014)
48 | “Amicus Curiae” means:
a) One among the b) One c) A friend of | d) One of the
parties to the dispute aXmor;ig the the Court qudgrft:s of the © A friend of
expert ou | the Court
witness 1n a
case
49 | A wrongful assumption of a public office can be got vacated by:
a) writ of mandamus b) writ of quo | c¢) writ of d) writ of ) writ of quo
warranto prohibition habeas corpus warranto
50 | Cruelty is a ground for:




a) divorce b) both ¢) judicial d) restitution .
. . . both divorce
divorce and separation of conjugal .
C . (b) | and judicial
judicial rights .
. separation
separation
51 | The concept of Human Rights primarily emphasizes: (a) (b) (c) (d)
a) Right to Property b) Right to c) Right to d) Dignity of Dignity of
Religion Equality man as a (d) | manasa
human being human being
52 | Select the correct meaning of the given idiomatic expressions: at stake:
a) at risk b) at fault c) free d) in full (a) | at risk
bloom
Select the right word to fill in the blanks in the given sentences: Varanasi
53 | stands on ...... Ganga.
a)a b) an c) at d) the (a) | a
Select the correct meaning of the given idiomatic expressions: a white
54 | elephant: (a) (b) (c (d)
a) a cruel person b) an c) a very d) a wild
. . . a very costly
innocent king | costly but animal
(c) | but useless
useless .
. possession
possession
Choose the word which is most opposite in meaning to the given word:
55 | Erase:
a) destroy b) enlarge C) preserve d) devour (c) | preserve
Choose the correct preposition for each blank: My father is angry ........ my
56 | failure.
a) at b) for c) with d) from (a) | at
How many members of the Rajya Sabha can be nominated by the President
57 | of India?
a) 12 b) 10 c) 15 d) 8 (a) | 12
The offence of culpable homicide not amounting to murder is punishable
58 | under section
a) 304 IPC b) 304 AIPC | ¢) 302 IPC d) 303 IPC (a) | 304 IPC




A person has designed a new type of scissors for cutting of clothes. Under

59 | which act can he seek protection of his invention?
a) The Patents Act b) The c¢) Consumer d) Arms The Patents
Copyrights Protection Act | Control Act (a) | Act
Act
60 | Fundamental duties are browed from which countries?
a) USA b) USSR c) Ireland d) UK (b) | USSR
In May 2023, PM Narendra Modi has dedicated and laid the foundation
stone of various development projects worth over 5,500 crore rupees in
61 | Nathdwara, which is in
a) Gujarat, b) Uttar c) Rajasthan, d) Bihar .
Pradesh, (c) | Rajasthan,
In May 2023, which of the following state government has launched
the Facial Recognition System (FRS) for Inner Line Permit (ILP)
62 | system for effective checking of ILP holders?
a)Arunachal Pradesh b)Mizoram c)Nagaland d)Manipur (d) | Manipur
Along with COVID-19, the WHO has declared the end of the public health
63 | emergency of international concern of which disease?
a) mpox b) Kivu c) Zika Virus | d) Polio
Ebola (a) | mpox
According to the Finance Ministry statement, the government has collected
64 | 1,49,577 crores as Gross GST revenue in February 2023, which is up by
on year-on-year basis.
a) 10% b) 12% c) 14% d) 15% (b) | 12%
65 | Which of the following is not a fundamental right under the Indian
Constitution?
a) Right to freedom of | b) Right c)Right to d) Right to Rioht to
religion against property equality (© 8
o property
exploitation
66 | Which is the only State in India to have the Common Civil Code?
a) Nagaland b) Goa c) Uttar d) National
Pradesh Capital (b) | Goa
67 | Burden of proof in any criminal case lies on the:




a) Lawyer b) . c) Accused d) Victim (b) | Prosecution
Prosecution
68 | Choose the odd one out:
a) Bat b) Parrot c¢) Crow d) Pigeon Bat
69 | The maxim "Res Ipsa Loquitor' means:
a) Justice is blind b) The aim of | c) In law there | d) Facts speak
. . Facts speak
law is to seek | is a remedy for themselves (d) | for
justi f
Justiee orevery themselves
wrong
70 | Full form of IPC?
a) Indian Penal Code b) Indian c) Neither a or | d) one of the (@) Indian Penal
a
Postal Code b above Code
71 | Which day is celebrated as "World Consumer Rights Day"?
a)15th March b)5th June c)5th d)15th July "
A | 15" March
September
72 | Who is the Chairperson of the National Human Rights Commission?
a)Justice B.S. Chauhan b)Justice A.K. c)Justice H.L. | d)Justice T.S. 8 Justice A.K.
Mishra Dattu Thakur Mishra
73 | ‘Lis Pendens’ means-
a)Awaited information b)A pending c)Decision d)On the basis . .
. i . B | A pending suit
suit awaited of evidence
Which among the following was described by Dr. B.R. Ambedkar as the
74 | ‘heart and soul of the constitution of India?
a)Freedom of Religion b)Freedom of | c)Right to d)Right to Right to
Speech and Equality Constitutional | D | Constitutional
Expression Remedies Remedies
75 | As per law the minimum age for the marriage of a boy and a girl in India is
a)21 years for both b)18 years for | c)21 years d)21 years c | 21yearsand
both and 18 years | and 19 years

18 years
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respectively

respectively

respectively

76

‘Alibi” means a plea by an accused person that he

a)Was present b)Was facing c)Underwent | d)Remained
. . L Was present
elsewhere trial preventive in judicial
. elsewhere
detention custody
Under the constitution of India ‘the right to pollution free environment has
emerged as a fundamental right from the right to
77
a)Freedom of movement | b)Life and c)Equality d)Conserve Life and
under Article 19 personal under Article | culture under personal

liberty under 14 Article 29 liberty under
Article 21 Article 21
78 | What is the meaning of “lex loci”?
a) Law of land b) Sovereignty | c) Law of land | d) Crown has
is essential for | is supreme supreme Law of land
enacting laws authority
79 | International criminal court is located at: Hague
a) Switzerland b) Hague c) London d) Geneva
80 | The term doli incapax is meant for:
a) Child below 7 years b) Child above | c) Child d) Child below
7 years but below 18 14 years Child below 7
below 12 years years
years
The following age group of children are entitled to free and compulsory 6-14
-14 years
81 | education under RTE Act, of 2009: y
a) 5-12 years b) 6-14 years c) 8-16 years | d) 7-18 years
The Parliamentary Democracy was copied from which of the following
82 | countries:
a) USA b) Canada c) Australia d) England England
83 | Untouchability is abolished and its practice is punishable according to:
a) Article 14 b) Article 15 c) Article 16 d) Article 17 Article 17
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84

The president may appoint all the following except:

a) Prime Minister b) Governor c) high Court | d) Rajya i
Rajya Sabha
Judges Sabha .
. Chairman
Chairman
How many members of the Rajya Sabha are nominated by the president of
85 | India?
a) 10 b) 11 c)12 d) 13 12
86 | Nuisance can be:
a) Public b) Private c) both public | d)either .
) ) Both public
and private public or .
. and private
private
87 | ‘Obiter Dicta’ means:
a) Basis of b)Judgment of | c)An opinion | d)Direction by An opinion
judicialdecision acourtinthe | given by the ajudge given by the
case beforeit | court not court not

necessary for

necessary for

the decision the decision
If an authority is holding information about another in a ‘fiduciary
capacity’, the information under the right to information act, 2005 may not Trust
88 | be obtainable. “Fiduciary relationship” is based on:
a) Trust b) Authority c)Law d)Contract
89 | ‘audi alteram partem’ means
a) Non connected to b)Following c)A d)Giving Giving
facts thesubstantive | transferee opportunity opportunity
law cannot of hearing of of hearing of
retransfer the other the other
side. side.
90 | "Ab initio" means:
a) in continuation with b)in c)from the d)defence of
connection beginning a comment from the
with the beginning
future
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91

Which of the following provisions of the Constitution of India provide for

protection of persons from torture, other cruel, inhuman and degrading

treatment?

a) Article 20(3) and
Article 21.

b)Article 21
and Article
22(1).

c)Article 21
and Article
22(2).

d)Article
20(3), Article
21, Article
22(1) and
Article 22(2).

Article 20(3),
Article 21,
Article 22(1)
and Article
22(2).

92 | The Central banking functions in India are performed by:
a) Reserve Bank of India | b) Central c) State Bank | d) all of the Reserve Bank
bank of India of India above of India
93 | The existence of a parallel economy of Black Money
a) Makes the economy b) Makes the c) Ensures a d) Ensures
. . , Makes the
more competitive monetary better increasing
- T . monetary
policies less distribution productive .
] i ) policies less
effective of income investment .
effective
and wealth
94 | India became a Sovereign Democratic Republic on:
a) August, 15, 1947 b) January, 30, | c) January, d) Nov, 26, January, 26,
1948 26, 1950 1929 1950
Which Schedule of the Constitution of India contains special provisions for
95 | the administration and control of Schedule Areas in several States?
a) Third b) Fifth c) Seventh d) Ninth Fifth
96 | Indian Constitution recognises minorities on the basis of:
a) religion b) caste c) population | d) colour religion
Under which article of the Constitution is the President’s Rule promulgated
97 | on any state in India
a) 352 b) 356 c) 360 d) 370 356
98 | The time gap between two sessions of the Parliament should not exceed:
a) 3 Months b) 6Months c) 9 Months d) 1 Year 6 Months

99

Which one of the following Amendments of the Constitution of India deals

13




with the issue of strengthening of the Panchayati Raj?

a) 42

b) 44" c) 73 d) 86" 73
100 | Indian Constitution was amended for the first time in:
a) 1950 b) 1951 c) 1952 d) 1953 1951
SPACE FOR ROUGH WORK
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